
Calculus - 1

Properties of  Real Numbers and Bounds : lecture 2
EII :- Find the solution set of the following :
(a) 3k -27/0 and 5k- I < 0

(b) -0.03 f INg_# £0.03
(C) 3 -1k f 5×-2 < 7 -1k

(A) 3k -2 710 And 5k -1<0

3h72 and 5h < I

✗ 743 keys



✗ 710.66
. -

K 5.2

0.66 f k { 0.2

Éo!o!Ñ
which is not possible
Hence titis of

(b) - 0.03 f 2k¥ £0.03
- 0.03×5 f 2N -1B£ 0.03×5

- 0.15 £ 2N -13£ 0.15



- 0.15 - If 2N f 0.15 - 3

- 3.15 £2m f-2.85

-

3z g se f - 2.85
2-

- 1. 575 fu f - 1.425

p r i

- 1.5-75 -1.4250

Solution set is
[ -1.515

,
-1.425]



(C) 3 -1N f 5k - 2 47th

subtract a
3 f 4k -2 < 7

.

55 4h 4 9

It n< g-

solution set
• •
←

.

0 5/4 99[ 514,914) →

2N - 3 < 5N -13 < In -13 .


